ML Meguro Language Center

JLPT N4 Kanji Quiz — 14/34 Answer
fl1 ZoFrrdd Kagn BBwrb HIHKEIZ a2 TTZEN,

(1) K5 1 S 2 BT S 3 TSR A A=Y
(2) 1%k 1 EV5HEx 2 xhlx 3 TeHEE LHLE
(3) & 1 & 2 & 3 b O

M2 r—%% UHSALE ZAT QUELE,

(1) WH 1 REE 2 RFEO 3 b O
2 = A 1 2T 2 IO 3 5ol SNl
(3) miFFELE 1 HIFELT 2 SATELE 3 bitEL: STELT
3 ZITbix HOE-7=0T WHIZHLEW) HIHBIC WELT,

(1) rich 1 A 2 1kHA 3 +H F H

2) Ho 1 W 2 5 3 E It

(3) Whizblwd 1 —H¢Hh 2 —H®P 3 —HEt — B+
M4 ZOBEAT ILFA SAEAZATLE,

(1) 1FA 1R 2 IR 3K (AN

(2) ITFA 1 =k 2 —F 3 & iy
(3) SA®ALZA 1 -TH 2 =75 H 3 =%H =XKHM
fl 5 LA it EAFORIC 22HOT N—_Fz2—% LET,

(1) Cori 1 #7R4 2 FFH 3 IRf A i B8

(2) ZFAFOV 1 & A 2 &WEH 3 FEiEH Ly
(3) 2 1 = 2 3 M BB



